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7. 1/3 part of the mark(s) of each question will be deducted

It is mandatory to fill one option for each question.

All questions carry equal marks.

Only one answer is to be given for each question. If more than

one answers are marked, it would be treated as wrong answer.

The OMR Answer Sheet is inside this Question Booklet.

When you are directed to open the Question Booklet, take out

the Answer Sheet and fill in the particulars carefully with Blue

Ball Point Pen only.

5.  Please correctly fill your Roll Number in OMR Answer Sheet.
Candidates will themselves be responsible for filling wrong
Roll No.

6. Use of Correction Pen/Whitener in the OMR Answer

Sheet is strictly forbidden.

e s

for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question.

8. Each question has five options marked as 1, 2, 3, 4, 5. You
have to darken only one circle (bubble) indicating the
correct answer on the Answer Sheet using BLUE BALL
POINT PEN.

9. If you are not attempting a question then you have to darken
the circle ‘5’. If none of the five circles is darkened, one third
(1/3) part of the marks of question shall be deducted.

10.* After solving question paper, candidate must ascertain
that he/she has darkened one of the circles (bubbles) for
each of the questions. Extra time of 10 minutes beyond
scheduled time, is provided for this.

11. A candidate who has not darkened any of the five circles in
more than 10% questions shall be disqualified.

12. If there is any sort of ambiguity/mistake either of printing or
factual nature then out of Hindi and English Versions of the
question, the English Version will be treated as standard.

13. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found
with any of such objectionable material with him/her will
be strictly dealt with as per rules.

Warning : If a candidate is found copying or if any unauthorized

material is found in his/her possession, F.LR. would be lodged against

him/her in the Police Station and he/she would be liable to be prosecuted
under Rajasthan Public Examination (Measures for Prevention of

Unfair means in Recruitment) Act, 2022 & any other laws

applicable and Commission’s Rules-Regulations. Commission may

also debar him/her permanently from all future examinations.
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% & = (Wolff's Law) & HAIER,
FE! A a9 (mechanical stress) &
i & ITgeRfeTa el & 7

6)) @ﬁaﬁmﬁaﬂtmﬁﬁq&'@?ﬁ%l
(2) TP WR e W 3R R A 2 |
@) ag?n@%ﬁ warg fepu famr sfafaa

4) ﬁw%mmaﬁaﬁé’rn

AR |
(5) aﬁﬁﬁam
T iU 2020 s wRdE wfgen
mﬁéﬂﬁﬁﬁ%ﬁwm%ﬁﬁ
F 9 § SafRud e ;
I oo SrefE — ga%rq'ﬁﬁ

I1. e
II1. tﬁé?ﬁagaaégﬁlzq
E M-I-IIT@2) IMI-II-I
B II->II-14) I-II-III
(5) FTRA ST
?@W S (Neuromuscular
Junction) ¥ HEUst ¥ (muscle
contractmn) % fo == @
it ¥4 8 SR g g ?
(1) SHmET @) WekE
(3) URRTEEHI (4)
(6) JgERaTE :
forerferiga st wfgen weeitel i eh!
IR 41 AEw | fired

(e=ie) (SuefaRr)
A Afemaw (@) s J ye Siad
. AT TRt Re T fee
B. f0fegen (i) el wRd mfgen

A

C. JRAT &g (iii) EAHEgE YR e

Tl UgS VR

afeem

D. %41 (iv) i & vgel
Teoigadt YR dfgar ateh

%

A aBie g1 )
(1) @) (3Gi) @Gv) (1;
(2) Qv) @) @Gii) @G
g?»; @) (i) (m; (iv)
4) @) @av) @) @)
(5) IFAa yH

=

N s T —— — — ————————— ——

According to Wolff’'s Law, how does

bone adapt to mechanical stress ?

(1) Increases mineral content and
density.

(2) Becomes more brittle with
increased loading.

(3) Remains

, .- regardless of stress.

(4) Becomes more flexible under
high loads.

(5) Question not attempted

Arrange the Indian women medalists
of Tokyo Olympics 2020 in the order
of the day their medals were won :

I. Lovlina Borgohain — Boxing

II. Mirabai Chanu — Weightlifting

IT1. PV Sindhu — Badminton

Codes :

1) MI-I-I1I1@2) IMI-II->I
B MN-oIll-I1¢ I-II-III
(5) Question not attempted

unchanged

Which neurotransmitter 1s
primarily responsible for muscle
contraction at the neuromuscular
junction ?

(1) Dopamine (2) Serotonin
(3) Acetylcholine (4) Glutamate
(5) Question not attempted

Match the following Indian women
athletes with their achievements
or significance :

(Athlete) (Achievement)
. Nilima (1) First Indian
Ghose woman to win
medal in
Olympics
. Mary (i) First Indian
D’Souza woman Olympian
. Aarti Saha (iii) First Indian
woman to win
Dhyan Chand
Award
Karnam (iv) First Indian
Malleshwari female swimmer
at Olympics
Codes :

A BT D
(1) @G1) @) Gv) @
(2) Gv) G @Gi) @)
(3) () @) @i) (@)
(4) @) Q@v) @) @
(5) Question not attempted
50



5.

T T f58 B T 39 e i HITdT

2 Torers fore 50 festmea fomam mram o, soem
T U hi THaT <hl T gl AT & 7

(1) TvasdfiTar
(2) wEgiEd

(38) uFEE

(4) Qear

(5) T A

Frafafaa @ @ =4 @ s & ae
1 qepieh! fRRivaT & & 7

a. QST R T W2 |

b, T W F ge g i

BIAT @ ST HeHT AT 8; Feral g3
T HIST I BT R |

c. H-ATH F g9 A W F Few,
Hed 3R 7@ F e weee qis A
HA g g |

d. ¥ g¢ R A 51 S A IR A
3R ST 2 |

(1) a,bUWec (2 b,cwEd
8) FadalTic (4) Haabuad
(5) IrgaRa S

Bleh! § “feres” R BN ?

(1) <red auy foman mn fie |

2 ™ W™ e g wfie @ Fw e
7

(3) ie I Uehal &1 ThFT |

(4) U B R o e wie |

(5) TG ¥

AD; 7 ommams imts uianis sttt st e s o

The process of evaluating the
degree to which a test measures
the factor for which it was
designed is termed as :

(1) Reliability

(2) Objectivity

(3) Criteria

(4) Validity

(5) Question not attempted

Which of the following statements
are not a technical characteristics
of the Running technique ?

a. Landing is on the ball of the
foot.

b. Knee bend of the support leg
is maximum during
amortization; the swing leg is
doubled up.

c. Hip, knee and ankle joints of
the support leg are strongly
extended at take off.

d. Thigh of the swing leg rises
quickly toward a vertical
position.

(1) a,bande (2) b,candd
(8) aandconly (4) b & donly
(5) Question not attempted

What is a “Flick” in hockey ?
(1) A hit taken while running.

(2) A push that raises the ball off
the ground. !

(3) A way to stop the ball.
(4) A penalty corner shot.
(5) Question not attempted




8.

10.

v B fefifer § & AW W@

wfernfirar sueht 2z faftr & gafea a8
27 -
(wfertfira) (ersfim fafty)
(1) 100 fiXde — TT FHEI TES
WHHH)
(2) 10,000 & — FAT a1 HT (88
S <sfiim)
(8) A AT g — FATIMHT =
TT (ZEYTeR TS
WHHE)
(4) 4x800f@ — FAT I HT
ke
(5) ST S
qes i afeftare sfeafiar & foe o=
ST SelTE AR 7 |
1) 224X (2) 2.40#HX
8) 243" . (4) 2.45HX
(5) TgRE wA
Hug T g9 Il % 91 o F=feiad
YA W femm L :
a. IR W H9d T S99 IFH TH
LT B A 3H YASH T fohaT ST 2 |
b, feifya o s oifte feend of
S e e e 8§ e S § |
c. Jfe S Uy & §I¢ G°F @57 IR
HAT 2 d HIE S99 36 T8 fe
ST |
= fqu T He 6t TR ¥ GE IW H
gﬂﬁﬁ:
(1) aw@hb (2 bWwec
B awWec (4 a,bWec
(5) IrgaRa T

8. Which of the following event of
athletics is not correctly matched
with its timing method ?

(Competitions) (Timing Method)

(1) 100m — TT (Transponder
Running Timed Performance)

(2) 10,000 m — FAT or HT (Hand
Running Timing)

(8) Marathon — FAT or HT or TT
Road (Transponder Timed
Running Performance)

(4) 4x800 — FAT or HT
Relay Race '

(5) Question not attempted

9. What is the standard height of a
volleyball net for men’s
competitions ?

(1) 2.24 metres (2) 2.40 metres

(3) 2.43 metres (4) 2.45 metres
(5) Question not attempted

10. Consider the following statements

about Bonus Points in Kabaddi :

a. The raider is revived if he
earns only a bonus point.

b. Suspended disqualified
players are still counted to

or

apply Bonus rule.

c. No bonus point is given if the

raider crosses the bonus line

after a struggle.
Select the correct answer using the
codes given below :
(1) aandb (2) bandc
(3) aandc (4) a,bandc
(6) Question not attempted
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11.

12.

13.

14.

50

W 7o e @i M A o srfeaw

frdcaa d ? '

(1 3

@ 5

(6) 3gERE ¥

< ww § wifn ¥ 9§ fafafea

HYAT W =R A

a. “TE % IR, Rgae B 19 S
% fore smaR &t 3i A B |

b. e “Teanew” & W fawrl 3w
TR ST 2, @ WhR 99" “gg8” W
AR |

c. TR H TR FAW TR M W
Uity femem et ? |

ﬁ%m@ﬁmﬁaﬁmm

A R ; _

(1) Fada@badd| ' l

(2) FEAbWcHRE |

(3) FaTaTHcHAR |

(4 a,bucufiudig|

(5) g e

gFs Feara ¥ Mo fFuior & wis

vl &g 9 @t qehHis %1 3TE R

TR ?

(1) T TS dehetent

2 difsa arfe=z W (VAR)

(8) 3Iregr-argess ¢fehm

(4) ﬁ‘UhE'lﬁ&?TWTFﬁ(DRS)

(5) I I

YRed  (Weightlifting) fai ‘a—i!

FIER NfafEat @ e & 9 foifiar

% IS T e FH TR ?

(1) AW — T FAT —> qhATh! |

HE — die FAehem

APTeh! HUT —> e e —

AT —> I91 HHT

A — Wi e —>i

Ah-Th! HE —> I HHT |
|
|

@2 4
@ 17

)
3)
(4)
®)

e T — 9 T — 994 |
HET —> dhATh! HUH

FATANT I

5

11.

12.

13.

14.

What is the maximum number of
sets in a professional men’s Grand
Slam tennis match ?

Al 2 4

3) 5 1) 7

(5) Question not attempted

Consider the following statements

about scoring in a tennis game :

a. After “Deuce”, a player must
win two consecutive points to
win the game.

b. If a player loses a point after

. “Advantage”, the score
returns to “Deuce

c. The server’s score is always
announced second.

Select the correct answer using the

codes given below :

(1) Only a and b are correct.

(2). Only b and c are correct.

(8) Only a and c are correct.

(4) Alla, b and c are correct.

(5) Question not attempted

Which technology is used presently
for critical decision of goals in
football ?

(1) Goal line technology

(2) Video  Assistant Referee
(VAR)

(3) Ultra-Wideband Tracking

(4) Decision Review System
(DRS)

®)

What is the correct sequence for
conduct of competition after
receiving entries as per
Weightlifting rules ?

(1) Verification — Weigh-in —

Question not attempted

Technical Congress —
Drawing of Lots

(2) Technical Congress —
Drawing of Lots —

Verification — Weigh-in
Verification — Drawing of
Lots — Technical Congress —
Weigh-in

Drawing of Lots —>
Verification — Weigh-in —
Technical Congress

Question not attempted

3)

4

®)




15.

16.

17.

G

fr=fefea § @ wra # gars @9 99
HHHEE ?

(1) 3 GEHR

(2) WK LG @ T TSR

(3) UEH G T TEHK

At T

(5) gea

g1 v g1 & fw o Reenfeat #
7 @ & fiemse w g % e g
T R T FEAT & TE I BT GAE B
g1 11
(Reeh) (@=)
Fifafie () Rewdw
TATE. T (i) Tt
Tram omar (iii). . GerhaTsit
AT /Y (iv) SEfed
hHA

%

(1)
2
3

oowp

A B G D
(i) @Gv) @G) @)
(i) () (@Gv) (i)
) Gv) @) (i)
(@) @) Gi) Gv) @)
(5) IFHIG ¥

@ I i wgl it gE wa T

SPSS # TH-a&HT ANOVA & JI1T &1

TTfieh LTI TR 7

(1) = o o= GeHaY $1 3THe HET |

(2) 8 Fuffa st f6 g 7 % o=
Tiferha &9 ¥ HgwEqul 3 § a0
& |

3 i

(4)

®)

6

15. Which of the following is the

16‘

cow »

17.

highest sports honour in India ?

(1) Arjuna Award

(2) Major Dhyan Chand Khel
Ratna Award

(3) Rashtriya Khel
Puraskar

4)

(5)

Olympic honour

Question not attempted
Match the List-I (Sportsperson)
with List-II (their Event) and
select the correct answer by using
codes given below the lists :

Protsahan

List-I List-I1
(Sportsperson) (Event)
Arpinder Singh (i) Table

Tennis
H.S. Prannoy (i) Athletics
Shiva Thapa (iii) Boxing
Achanta (iv) Badminton
Sharath Kamal
Codes :

A: B GiucD
() i) Gv) G) @
(2) Gi) @ Gv) 3G
3 @G) Gv) @) (i)
(4) @) @) (Gv) @
(6) Question not attempted

What is the primary purpose of

conducting a one-way ANOVA in

SPSS when comparing three or

more groups ?

(1) To assess the
between variables.

2)

correlation

To determine if there are
statistically significant
differences between group
means.

To identify the median
differences among groups.

To calculate the standard
deviation of each group.
Question not attempted

3
4

®)
50



18.

19.

20.

21.

50

18.

19.

20.

TRy § F2 gwr % e feg Se wonfy

<1 39T fofam ST @ 7

(1) SR He

2 =TI

3) gHsl e

(4) "AETH

(5) TgaRa ye

1896 % 3Mifyes & AT i Faf au™

el 7 -

(1) few=d

2 WA

-~ (3) WoRTs Rfemm d

(4) whmfer o

(5) ST ¥

2021 ¥ ¥ R A AeifE Tt F

TNl aTe § &7 ageTd A 7

(1) O, ST, T — FEHIET

(2) O, Ja, woree — gfeRifvar

(8) q, S, AT — WIY-ATY

(4) O, FT, TS — Thal

(5) orgaRa A i

O L F v pu——— 2§

27

(1) B IFIHIH FEIT HT TH TR

@) foveryn 3 g 3w feewn T |

21 61 v AT

(3) W STFEH # Y T e |

(4) TH 3 TR 1 wfveror fafy |

(5) I s |
7

Which camel species is used in
Rajasthan for camel safaris ?

(1)
2
3)
(4)
(6)

Bactrian Camel
Wild Camel
Dromedary Camel
Mustang Camel

Question not attempted

Where did the Marathon race in
the 1896 Olympics finish ?

(1) The Pnyx

(2) The Parthenon

(3) The Panathenaic Stadium
4
)

The Acropolis

Question not attempted

What Olympic motto changes were

brought by IOC in 2021 session ?

(1) Faster, Higher, Stronger —
Co-operation

(2) Faster, Higher, Stronger —
Competition

(8) Faster, Higher, Stronger -

(4)

(5

Together

Faster, Higher, Stronger -
What does the term “Big Data”
refer to in sports analytics ?

Unity
Question not attempted

(1) A collection of small research

studies

(2) A large volume of data used
for analysis

(8) A term used in psychology
research

(4) A new type of training
method

()

Question not attempted




22, feffeada s aTHaadig ?

23.

24.

25.

(1) 3rcafies wy fope e e sgm g
RN I AEA MY TS F 2 |

@ w feeee fw w iwd
et  foTg 3TgH Bar @ |

(3) Tt My foma &1 9 @ T
sgq uftfe@ @ 3R IEEh
SR TEwEqU g @ |

(4) At gehiot = rfa rffeea smemd
ot st =R |

(5) e I

Yy wfshan # vgen =TT S BT § ?
(1) g =R/ 6 Ig=TH HET

(2) feca wHiEm

(8) Ny T 1 faeaw

(4) ufepeaan w1 e

(6) IR v

AEshiaiee HAMhe 98 2016 ¥ Th 1
Twas @ % fore fefafRaa swon =t
g8 9 | Syafeya $ifse

a. W@l g W fFas # |

b. L s R |

c. IS o W o Bt |

(1) c—>b—sa (2 b—a—oc
B a—b—osc (4 c—a—b

(5) IrgIid ¥

e 3 Qivs fes &t a@fla
anuTita wegfeet & foe = wnfia feean
ST AT 8 ?

(1) TIHH

2) HEA FRH

(3) amgsivE Hiew

(4) EE Tt

(5) g SR

i ——; T a——— A W, T WA T A T L. T

22.

23.

24.

25.

Which of the following statements

is correct ?

(1) Overdone subjects are
preferable as they offer easy
research.

A controversial
suitable for
researcher.
Familiarity and feasibility are

- important in selecting a
research topic.

Too narrow or too vague
problems should be taken.

(5)  Question not attempted

@

subject is
an average

3)

4

What is the first step in the
research process ?

(1) Identifying the research
variables
(2) Literature review

Formulation of the research
problem

Formulating the Hypothesis
Question not attempted

3)

4
)

Arrange  the following steps in
correct ‘sequence to create a new
document in MS Office Word 2016 :
a. click blank document

b. click new

click the file tab

c—b—a (2 b—oa—oc
a—b—c (4 c—a—b
Question not attempted

C.

(1)
3
()

What must be installed for musical
routines in Rhythmic and Aerobic
Gymnastics ?

(1) Earphones

(2) Decibel counter

(8) Vibration meter

(4) Wireless speaker

(5) Question not attempted

50



26. HAH-I & fogaml &1 @Il § s

27.

50

A TEEE TS,
. ITeH TR (i)

. IS,

. W

s R F afemnet & frem S

a1 9 iU T % 6 wEEa @ @ I

1 AT I :
-1
(foam)

ge-11
(aftumT)
() wFFF I
nfafafert otk 3%
TiuTmaT T 3T |
i R
2l
(i) wriifies nifafafer
% HTeEn § w2 -
s fawma &
e |
(iv) qof ferprar g wwm
e 1 @ arfim
3T |

AT 3R
TR

faferm

%

A B €. .D
D @ G Gi) (@(v)
@ Gv) @ G (i)
(3 @) ()@ (Gv)
(4) () @Gv) @) (i)
(6) IFTafa g

dwiga sireifes whf S T s | 9y

Y ?

(1) form g
(2 <. Rfre Tegm
(3) SAfrw fberm
(4) &0 S AdR-TTR
(5) g e

WD i et e e i s amine

26.

Match List-I with List-II, Scholars
and their Definitions of physical
education and select the correct
answer by using the codes given
below :

List-I List-II
(Scholar) (Definition)
Edward F. (i) The sum of
Voltmer & man’s physical
Esslinger activities and

outcomes.
Charles A. (ii) Physical
Bucher education is
“movement
education”.
J.F. (iii) Concerned with
Williams big-muscle
development
through
physical
activity.
Harry (iv) An integral part
Crowe of total
Buck education for
full
development.
Codes :
A=B . CuP

M 0 G G G

2 Gv) @ @i (iii)
() Gi) G) (@ (iv)
4 () Gv) @) (i)
(6) Question not attempted

Who was the first President of the
International Olympic Committee ?

(1)
(2)
3
(4)
()

Pierre de Coubertin

J. Sigfrid Edstrom
Demetrius Vikelas
Henri de Baillet-Latour
Question not attempted




28. G-I & FE-II Y, S I I TR
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28. Match List-I with List-II,

29.

30.

the
country and their key concept

promoted by their physical
education system :
List-I List-11
(Country) (Concept) -
Germany (i) Military training
and fitness focus
Sweden (ii) Nationalism —
through
; gymnastics
Denmark (iii) Scientific
approach to
gymnastics
Great (iv) Amateurism and
Britain love of the game
Codes :

A B C D
(1 @ Gv) G (i)
2) @ Gi) @O )
(3) Gv) (i) @) @D
(4) @Gi) Gv) @ O
(5) Question not attempted

Name the sport invented by James

- Naismith and its year of invention.

(1) Volleyball - 1895

(2) Golf - 1892

(3) Basketball - 1891

(4) Soccer - 1895

(5) Question not attempted

Which of the following statements

is/are correct ?

I. Gutsmuths is known as the
founder of modern physical
education in Germany.

II. Gutsmuths’ book Gymnastics

for Youth emphasized only

competitive sports training.

Gutsmuths’ educational

philosophy strictly rejected

intellectual growth through
physical activity.

Which of the following is correct ?

(1) All statements I, II and III
are correct.

(2) Statement I is true, but
statement II & III are false.

(8) Statement I is false, but

4)

(3)

IIL

statement II & III are true.
All statements I, IT & III are
false.
Question not attempted
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31.

32.

How did the Meiji Restoration
influence sports in Japan ?

GO led to a decline in
traditional Japanese sports.

It resulted in the introduction of
many Western scientific and
technological development.

It had no significant impact
on sports development.

It focused solely on military
applications of sports.

Question not attempted

@

3
(4)
®)

Which of the following are focus
areas under the Khelo India
Scheme ?

a. Sports for women

b. Promotion of Rural and Tribal
Games

c. Indigenous Games Promotion
d. Only Urban Sports Facilities
Options :

(1) aandb only

(2) a, bandconly

(3) b and d only

(4) a,canddonly

(5) Question not attempted

Which of the following statements

about the ancient Olympic games

is correct ?

(1) Only slaves were allowed to
participate.

(2) Women had the same rights
as men in the games.

(3) Only free Greek males could
enter the games.

(4) The games were primarily for
entertainment, not
competition.

(5) Question not attempted
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35.

36.

37.
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34.

35.

36.

Which of the following is not a sub-

scheme under the National Sports

Talent Contest (NSTC) Scheme of

SAIL?

(1) Regular Schools

(2) Indigenous Games
Martial Arts (IGMA)

(3) SAI Training Centres (STC)

(4) Adoption of Akharas

(5) Question not attempted

Arrange the following shooting

Arjuna Award  winners  of

Rajasthan in correct chronological

order :

A. Ms. Rajyashree Kumari

B. Mr. Rajyavardhan
Rathore

C. Ms. Apurvi Chandela

D. Dr. Karni Singh

Options:

1 D-B->C—-A

@2 D—-A—-B—-C

@3 D-A->C—-B

4 A-D-B-C

and

Singh

(5) Question not attempted

The most basic level of our
personality is called :

(1) Psychological core

(2) Typical response :

(8) Role related behaviour

(4) Psycho-physical personality
(5) Question not attempted

. Which of the following are correct -

about growth and development ?

i Growth 1is non-continuous
process.

ii. Development is progressive

and sequential.

Growth is affected by past or

new learning. -

Direction of development is

always positive.

Select the correct codes :

(1) Only i, ii and iii are correct.

Only i, ii and iv are correct.

iv.

Only ii and iv are correct.
Question not attempted
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38.

39.

40.

41.

Which of the following is not a

characteristics of Anxiety ?

(1) Nervousness

(2) Worry

(3) Apprehension

(4) Pleasant events

(5) Question not attempted

What is the primary characteristic

of individuals’ personality having

high “sensation seeking” ?

(1) Preference for low-risk and
predictable activities

(2) Desire for exciting, risky and
novel experiences

(8) Avoidance of physical or
mentally stimulating
activities

(4) Strong preference for routine
and stability

(5) Question not attempted

Increased physiological activation,

fear of failure, feeling of inadequacy,

loss of control and guilt are the

factors which produce anxiety

among athletes during what ?

(1) Post-competition

(2) Pre-competition

(3) During competition

(4) During selection of team

(6) Question not attempted

Which of the following Dbest

describes the primary difference
between intrinsic and extrinsic
motivation in sports ?

(1) Intrinsic motivation is based on

external rewards, while
extrinsic motivation comes
from within.

(2) Intrinsic motivation is influenced
by trophies and prizes, whereas
extrinsic motivation is linked to
enjoyment.

(3) Intrinsic motivation is driven
by personal enjoyment and self-
improvement, while extrinsic
motivation comes from external
rewards.

(4) Intrinsic motivation applies
only to amateur athletes, while
extrinsic motivation applies to
professionals.

(5) Question not attempted

=]
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43.
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42.

43.

44,

(3

Which of the following is not a
Weiner’s basic attribution
categories ?

(1) Stability

(2) Locus of control

Locus of causality

Locus of attitude

Question not attempted

(4)
(5)
Which of the following is/are
correct about somatotypes ?

i.  Endomorph — a ‘somatotonic’

personality

ii. Mesomorph — a ‘viscerotonic’
personality

iii. Ectomorph — a ‘cerebrotonic’
personality

Select the correct codes :

(1) Onlyiand ii are correct.
(2) Only iii is correct.

(3) Only ii and iii are correct.
(4) Allj,ii and iii are correct.
(5) Question not attempted

Given here are two statements

Assertion (A) and Reason (R). Read

carefully and answer from the

answer codes given below :

Assertion (A) External
regulation is the highest form
of extrinsic motivation.

Reason (R) : External regulation
is entirely controlled by
external sources such as
rewards and constraints.

Answer Codes :

(1) Both (A) and (R) are true and

(R) is the correct explanation

of (A).

Both (A) and (R) are true but

(R) is not the correct

explanation of (A).

(A) is true but (R) is false.

(A) is false but (R) is true.

Question not attempted

2

3
“4)
(5) _

50
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45. Which of the following are correct
about Motivation ?

46.

47.

3 5

Extrinsic motivation refers to
behaviour that is driven by
external rewards.

Intrinsic motivation : When
you pursue an activity for the
pure enjoyment of it.

Intrinsic motivation : Word
intrinsic is derived from the
Latin word ‘Intrinseque’.

Select the correct codes :

(1)
2)
3)
4
®)

Only i and ii are correct.
Only ii and iii are correct.
Only i and iii are correct.
All i, ii and iii are correct.
Question not attempted

What is the best way for the
department of physical education
and sports to gain publicity ?

(1)
@)

3)
4
®)

By relying on advertisements
and promotional campaigns.

By ensuring actions and
achievements speak  for
themselves.

By hiring professional public

relations officers.

By focusing only on social
media promotions.

Question not attempted

Command method is also known by
which name ?

1)

@)

3
4
(5)

Informal method
Direct method
Indirect method
Formal method

Question not attempted
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48.

49.

- steps

50.

51.

Which of the following is not an
approach to budget preparation ?

(1) Conventional approach or line
item budget
(2) Planning, Programming,

Budgeting, Evaluating system
Performance-based budgeting
Zero-based budgeting
Question not attempted

3)
(4)
(6)

Select the correct fundamental
of use of audio-visual
teaching material in teaching :

A. Evaluation of material before use.

- B. Discuss regarding the material

after use.

C. Selection of material.

D. Use of equipments
appropriate time-state.

Codes:

(1) C-D—-A—-B

@2 C—-D—-B-oA

@3 C—-A—-D-B

4 B-D—-A->C

(5) Question not attempted

Arrange the following in proper
sequence of teaching as per the
special lesson plan :

I. Attendance

II. Dispersion

IT1I. Teaching skill

IV. Demonstration

Answer Codes :

1) I-IV-I-III

2 I-IV-II-II

B I-IOI-IIM-1IV

4 II-IV-II-I

(5) Question not attempted

in

In League Tournament, if the total

number of teams are 6, then how

many matches will be played ?
1 15 @ 17
3) 18 @) 16
(5) Question not attempted
5 50
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52.

53.

54.

55.

56.

Which of the following is not a
student classification method ?

(1) Cozen method

(2) Y.M.C.A. method

(3) Atlanta city method

(4) Indian method

(5) -Question not attempted

If the number of teams are 19 in a
Knock-out tournament, then how
many byes will be given ?

(1) 5 Byes (2) 13 Byes

(3) Only 3 Byes (4) 7 Byes

(5) Question not attempted

Which is not a challenge
tournament ?

(1) 'Ladder type

(2) Begnall wild type

(3) _Bridge type

(4) “Cob-web type

(5) Question not attempted

What is the characteristic of

consolation competition ?

(1) Every team has
against each other.

(2) (All teams will get upto the

last round.

Every team will get chance to

play at least two times.

Only winning team will get

chance to play again.

Question not attempted

to play

3
4

()

Which training period is
characterized by high volume but
medium intensity ?

(1) -Competition period

(2) Preparatory period

(8) “Transition period

(4) Recovery period

(5) Question not attempted
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57.

58.

59.

The structure of the sports training
sessions are aimed at achieving :

(1) minimum training effect in
the selected sports

(2) maximum training effect in
the selected sports

- (8) slow training effect in the

selected sports

(4) heavy training load in the
selected sports

(5) Question not attempted

Which of the following are correct ?

i.  Meso cycle is normally of 3-6
weeks.

ii. Normally preparatory and
competition phase consist of
more than one meso cycle.

The Transition phase has
only one meso cycle.

Select the correct codes :

(1) Onlyiand ii are correct.
(2) Onlyii and iii are correct.
(3) Only iand iii are correct.
(4) Alli,ii and iii are correct.
(5) Question not attempted

What are the different methods of
training load in sports training ?

i.  Linear method

ii. Step method
Density method
iv. Transition method

Answer options :

(1) Onlyiand ii are correct.
(2) Only iii and iv are correct.
(3) Only iand iii are correct.
(4) Only ii and iii are correct.
(5) Question not attempted

50



60. Freffen # @ w4 @ -

61.

62.

63‘

50

(4

-5k 1 fadiwar 2/ 2

i wfrewr fear wga s @ ¢
e ST aET S0 S & |

ii. ST & vee 3ifem 1 9 2 mrE)-
=05k & W&V YR HTH 7 BT R |

iii. SfoRnfrer & vget 3ifm 1 97 2 wrE-
=I5 A W& R §¢ ST & |

SEETACCE |

(1) FaisRiiadd)

(2) e ii 3R iii T E |

(8) haet i 3N iii gE |

(4) FaiiigdE |

(5) e s

ffafea & @ w1 = g Siew 3
I H @iy 7 -

(1) erTes wieor sht 3= O

(2) W gerile %1 qienea

(3) wEraT 3R WewTET

g HH YA GAR

(5) 3TgaRa =

aREm N “aE s AR S
ugelt SR foha v fakam 2

(1) =R (2) =iféq

B) ST (@) e

(5) 3w e

SR @ @1 #9 F a1 Reerd =5t S

BN IR I SR R a" W qee | 63

% 1T i W e T 1 e
BT HHT HTETF 8 7

(1) 538 10fme

(2 15% 30 fiFe

(8) 407 45 fime

(4) 359 45 fime

(5) SITRATRT

|
|
|
|
!
|
|
|
|
|
|

19

60. Which of the following is/are the

61.

62.

characteristic of Pre-competition

Meso-cycle ?

i.  Training intensity is very
high with corresponding low

volume.

ii. In the last 1 or 2 micro-cycle
before the competition
training load is drastically
reduced.

iii. In the last 1 or 2 micro-cycle
before the competition

training load is increased.
Select the correct codes :
(1) Onlyiand ii are correct.
(2) Only ii and iii are correct.
(3) Only i and iii are correct.
(4) Only iii is correct.
(5) Question not attempted

Which of the following is not the
characteristic of second phase of
technique training ?

(1) High volume of technique
training

(2) Refinement of motor
movement

(3) Help and encouragement

(4) Very less movement
correction

(5) Question not attempted

Who introduced the “Iso Kinetic
Method” of training for the first
time ?

(1) Harre (2) Martin

(38) J.J. Perrine (4) Harison

(5) Question not attempted

After a training session or a match
a Cool Down of how much time is
usually essential to help the
sportsman to recover and to come
back to a normal level of
functioning ?

(1) 5 to 10 minutes

(2) 15 to 30 minutes

(3) 40 to 45 minutes

(4) 35 to 45 minutes

(6) Question not attempted
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(1) (©

Arrange the following sports

training factors from bottom to top :

(@) Tactical training

(b) Technical training

(c) Psychological and mental
training

(d) Physical training

Answer Codes: -

(b) (@) (@

@2 @ 0y (@ (

@) @ G (@

4 @ @ b @

(5) Question not attempted

After training during recovery
phase, the recovery does not end at
pre-training but it over shoots the
pre training level, which is known
as:
(1)
2)
3
(4)
(5)

What is another name of Red blood
cell ?

(1) Leukocytes

(2) Erythrocytes

(8) Thrombocytes

(4) Monocytes

(5) Question not attempted

Super recovery
Supercompensation
Super adoptability
Load adaptation
Question not attempted

Which of the following are correct

about microscopic structure of

skeletal muscles ?

i. Each dark A-band has a
lighter region in its center.

ii. H-zone is only visible when

the myofibril is relaxed.

There is a dark line in the

middle of the H-zone called

the Z-line.

Select the correct codes :

(1) Onlyiand ii are correct.

(2) Only ii and iii are correct.

(3) Only i and iii are correct.

(4) Alli, ii and iii are correct.

(5) Question not attempted

50
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mechanism of Homeostatic

regulation ?
(1)
(2)
(3)
4)
(5)

Which of the following are correct

about sliding filament theory of

Muscles contraction ?

i.  Calcium
troponin.

ii.’ The motor neuron releases
ACh, which opens up ion
gates in the muscle cell
membrane, allowing sodium
to enter the muscle cell.

During the sliding, the thin
filaments move towards the
centre of the sarcomere.

Select the correct codes :
(1)
2)
(3)
4)
(6))
The function of a fat cell includes

which of the following ? Select your
answer from codes given below :

a. Store b.
c.-' Protection d.
Answer Codes :

(1)
(2
3)
(4)
6))

The receptor

The control centre

The effector

The regulator

Question not attempted

ions bind with

Only i and ii are correct.
Only ii and iii are correct.
Only i and iii are correct.
All 1, ii and iii are correct.
Question not attempted

Insulation

Retraction

a, b and c only
a,b,candd

a and c only
a,band donly

Question not attempted
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72.

73.

74.

71

Which of the following are correct

about terms used to describe the

body positions ?

i.  Proximal : away from
trunk

: refers to Anterior

: refers to structure
closer to the feet

Select the correct codes :

(1) Onlyiandiiare correct.

(2) Only ii and iii are correct.

(8) Onlyi and iii are correct.

(4) Alli, ii and iii are correct.

(6) Question not attempted

Which of the following statement is
not true about a human brain ?
The brain is not considered an
organ in the human body.

The brain sends out and
receives hundreds of
messages every second.

It controls every activity of
the body.

Brain is the control centre of
the body’s nervous system.

(5) Question not attempted

What is released when ATP
hydrolyzed and degraded to ADP ?
(1) Water

(2) Glucose

(3) Free Energy (~7.3 kecal/mol)
(4) Lactic acid

(5) Question not attempted

Which nutritional supplement is
most effectively available to the
athlete to increase high intensity
exercise capacity and muscles
mass during training ?

(1) Creatine (2) Protein

(3) Calcium (4) Vitamin

(5) Question not attempted

the

1. Ventral
ii. Caudal

)

3)
(4)

50
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Which of the following structure is
responsible for the calcium release
that triggers muscle contraction ?
(1) Sarcolemma

(2) T-tubule system

(3) Mitochondria

(4) Glycogen particles

(5) Question not attempted

“If a person was free from disease
then the person was considered
healthy”, is the view of which
traditional concept ?

(1) Biomedical concept

(2) Ecological concept

(3) Environmental concept

(4) Professional concept

(5) Question not attempted

Communicable disease ‘RUBEOLA’
is also known by which of the
following diseases ?

(1) Mumps (2) Smallpox
(3) Measles (4) Diabetic

(5) Question not attempted

Which of the following is a
limitation of Body Mass Index

(BMI) ?

()t requires expensive
equipment.

(2) It is used only by healthcare
professionals.

(3) It - does not distinguish

between fat and muscle mass.
(4) It cannot be wused for
population assessment.
(5) Question not attempted

Which amino acid that exist
plentiful in the body reported to
increase cell volume and optimize
cell hydration ?

(1) Arginine (2) Glutamine
(8) Lysine (4) Valine

(5) Question not attempted
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; 80. The process by which gases are
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81.

82.

83.

exchanged across the respiratory
membrane in the alveoli is known
as :

(1)
@)
3)
(4)
(5)

Coronary diffusion
Systemic diffusion
Pulmonary diffusion
Gases diffusion
Question not attempted

Which vitamin helps
calcium absorption
digestive tract ?

(1) Vitamin-A (2) Vitamin-D
(3) Vitamin-B;y(4) Vitamin-K

regulate
from the

(56) Question not attempted

A short term intense exercise of 35
minutes in ergometer cycling can
reduce brain glucose approx. upto :

(1) 32% (2) 42%
3) 52% (4) 62%
(5) Question not attempted

Which of the following is not
correct about type 2 diabetes ?

(1) Characterized by impaired
insulin secretion.
(2)

Excessive glucose output from
the liver.

Also known as non-insulin
dependent diabetes mellitus.

3
(4)

Also known as juvenile-onset

diabetes.
Question not attempted

®)
50
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84,

85.

86.

What does the human development
index primarily measures ?

(1) The economic strength of a
country only.

The per capita income of an
individual only.

Basic human capabilities such
as longevity, knowledge and
standard of living.

The number of healthcare
facilities in a country.
Question not attempted

@
3

4)
(6))
Which of the following is not correct
about Erythropoietin (EPO) ?

(1) Erythropoietin falls into the

class of blood doping.

It stimulates red blood cell
production in bone marrow.

(2)

(3) Training at lower partial
pressure of oxygen has no

effect on the production of
EPO.

(4) Erythropoietin (EPO) is a

naturally occurring hormone
produced by the kidneys.

Question not atfémpted

(6)

Which among the following can not
be considered as a type of
recreation ?

(1)
@
®3)
4
®)

Active recreation

Passive recreation
Creative recreation
Gambling active recreation

Question not attempted
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87.

88.

89.

Which characteristic of recreation
emphasizes that it should not be
harmful to an individual in any
way ?

(1)
@)
3)
4)
(5)

Leisure
Constructive
Voluntary
Non-survival

Question not attempted

“It is the essence of many
experiences through which the

individual directly gains the
personal enjoyment and
satisfaction.”

The above statement is related to :
(1) Play

(2) Entertainment

3
4
(5)

Leisure time utilization
Recreation
Question not attempted

Bibliotherapy is which of the
following type of recreation ?

(1)
@)
@)
(4)
®)

Therapeutic recreation
Drama

Dance

Story telling

Question not attempted

The duration of
recreation camps are :

overnight

(1) 12 hours

3)
(5) Question not attempted

(2) 15 hours

18 hours (4) 24 hours

50
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91. Which of the following statements

92.

93.

are correct about Camp

administration ?

i. Camp Council : Elected body
which assist camp director.

ii. Camp Director : Responsible
head for camp programmes.

A camper’s infractions against
the rules is handled by camp
director.

Select the correct codes :

(1)
@)
3
(4)
6)

Only i and ii are correct.
Only i and iii are correct.
Only ii and iii are correct.
All1i, ii and iii are correct.

Question not attempted

Which of the following is
considered the “Father of Modern

- Camping” ?

(1
2
3)
(4)
®)

Thomas Hiram Holding
John Muir

Theodore Roosevelt
Boy Scout

Question not attempted

Recreation is interchangeable with
leisure. The term ‘leisure’ is derived
from the Latin word which means :

(1)
(2)
3
4)
®)

to enjoy

to be free

to bring pleasure
to rejuvenate

Question not attempted
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94.

95.

96.

The term ‘Leave no trace’ in

camping, means :

(1) Leaving trace for wild

animals.
2)
3)

Anyone should not be traced.

Leaving site without any
damage or litter.

Leave trace for

danger.

4) no

any

(5)

Question not attempted

]

When was the National Sports
Festival for women started by
Government of India ?

(1) In the year 1985
(2) In the year 1975
(3) In the year 1982
(4) In the year 1984
(5) Question not attempted

Which of the following Yamas of
Ashtang yoga or codes of conduct
or moral disciplines towards the
outside world are not correctly
matched ?

1. Ahimsa — “non-harming”

ii. Asteya — “stealing”

iii. Aparigraha — “possessiveness”

Satya “refraining from

dishonesty”
Select the correct codes :
(D
(2)
(3)
4)
6))

iv.

Only i, ii and iii

Only i, ii and iv

Only ii and iii

Question not attempted
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97.

98.

99.

Which of the following is not listed
as necessary equipment for every
camp ?

(1)
@)
3)
(4)
®)

Tenting gear

Grocery items
Sanitation requirements
Fire extinguishers

Question not attempted

Select the name of the book in
which Maharishi Patanjali has
described the eight elements of
yoga ?

(1) Yoga Gyan
2) .Yoga Darshana
(8) Yoga Kriya
(4) Yoga Sutra

(5) Question not attempted

Which of the following are not the
objectives of clubs ?

(1) To : explore
interest.

and develop

To raise funds.

2
(3) To create and nurture social
values.

To foster desirable character
traits.

4

(6)

Question not attempted
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How do yogis claim to assimilate
energy differently from ordinary
beings ?

(1) By consuming only sunlight
and air instead of food.

By meditating in specific
postures to absorb cosmic
energy.

By the power of the mind
alone, drawing in energy
without relying on external
means.

By chanting mantras that
convert mental power into
energy.

Question not attempted

2

3

4)

()

Which Sanskrit term, meaning
“closure” or “seal”, refers to hand
positions that influence the energy
flow of the body and are linked to
spiritual and mental states ?

(1) Mudra
(2) Bandha
(8) Asana
4
®)

Mantra

Question not attempted

Which mudra is known as the
Mudra of Heart and is beneficial in
reducing the risk of heart attacks ?

(1)
@)
3
4)
)

Vayu Mudra

Gyan Mudra

Prana Mudra
Apana Vayu Mudra

Question not attempted
50



103, TSHTHE 1 TTAfh ST FT 8 7

(1) wieafE 6t aeea R P #
AT SGHT |
T WIRATSTT ! SgHT AR Al A
foraTes werert ot SEX fehTer |
SISt # THEE H G B AW
TRF a8 i FeTe ol |
TG YOIl I ASIEE ST 3R
HHS! <l & TG |
FrFTIRT I

(2)
3)
(4)

)

frfefga & @ 97 @1 @& & @ A7 T
T raie ?

(1) HHAWT — TAR GUE 3R HHSI
$19fg |

— o oo T ST |
3) dfd - ureE o, TeH HEE |
(@) Tt - oEeE H EEE |
(5) ITgERA S

104.

(2) =S

105.
(5th World Leisure Day) T faw ==
a1 ?
(1)
2
3)
)
(5)

Torva wife & fore @rett w9=
A& THN % foTg ETeft T
At 3 forw @reft ww

e s % e Ereh T
STTANE WA

50

31

103. What is the primary purpose of
Pawanmuktasana ?

ey

To improve muscle strength
and flexibility in the limbs.

To enhance digestive
processes and  eliminate
toxins from the intestines.

(2)

To promote the free flow of
prana by releasing blockages
in the joints.

3

(4) To strengthen the respiratory
system and increase lung

capacity.

6

104. Which of the following is not
correctly matched ?

(1) Kaphalabhati — Purification of
frontal lobes
and lungs

Question not attempted

(2) Trataka — Gazing without
blinking

— Cleaning of
digestive tract,

stomach

(3) Dhauti

(4) Nauli
(5) Question not attempted

— Colon cleaning

2025 & 7T T 55 fivs @eht @ Re| | 105, What was the theme of 5t World

Leisure Day celebrated in 2025 ?
(1)
2
3
@

Leisure for World peace
Leisure for a Better society
Leisure for Friendship

Leisure for

environment

Saving

(6)

Question not attempted




106. wifts R1&m 1 T FWEE F ®9 ¥ | 106. Physical education is classified as

Sfiepa foman T 8 i a discipline because :

I. 39 3ilvafie &9 @ Sl gt I. It is formally taught and
i verm 3tk My TS | ; researched at  academic
o T institutions.

11: Hae e wfdreor
ST i # | II. It only involves physical

: : training and exercise.
II. 38" Y-37eFT I9-831 & 9y

7 : III.- It has structured knowledge
TEAIER | with distinct sub-areas.
IV. F it S ok frgia & w=a IV.. It -avoids iatientific inguiey
21 and theory.
Re: Codes :
(1) IsRIVedd)

(1) Iand IV are correct.

(2) MIRIITARE (2) I andIII are correct.

(3) I3RIIEEE
(4) IIIARIVEHE|

(3) I and III are correct.

(4) III and IV are correct.

5 Sﬂﬁ!tﬂ T+
& (6) Question not attempted
-+ 107. 3yt wrdices R 1 frame ot A 107. Who is considered the grandfather
SR ? ‘ of modern physical education ?
(1) <igH TeEgeE (1) Johann Gutsmuths
(2) WAl fom (2) Per Henrik Ling
(8) SH-Se= w4 (3) Jean-Jacques Rousseau
(4) I (4) Aristotle
(5) Igalia v | (5) Question not attempted
108. I |T WTGH ST Bl G T8l & 7 | 108. Which one is not example of
(1) IfefREs kT I Narcotic analgesic ?
@) FRdm SeiRe ’ (1) Anileridine Morphine
. Dio: :
3) TR g gi Pzplpanoir;e Phenazocine
entazocine
4 qqg'lamsg
@ i (4) Furosemide
(5) ARE WH |

(5) Question not attempted
o 32 50



109. Match List-I with List-II and select

109. g=h-1 & -1 %1 frem & 33U
ST Praffed ge H A the correct answer by using the
codes given below the lists :
Sl AT ListI List-II
A affw @) @H‘FEFIT A.  Surplus (i) Play supports
Fat THEHTT a0 1 Energy information
TR FAT R | processing
- 3 ) o e . : mechs:imsm.
‘ ST fem & B. Recreation (ii) fIl’la.y is useful
or mental
: for st 2 | and physical
C. e (iti) o= Qe S qEW relaxation.
¥ T C. .Anticipation (iii) Children
%ﬂﬁwaﬁiﬁrm : mimic adult
F@E roles through
| — play.
D. m (iv) o e D. Cognitive (iv) Play occurs
frgra Zﬂﬁrﬁiﬁm% theory due to excess
HRUT @A BT R | energy in
young bodies.
®: Codes :
A B C D A B B
L @ @ 6@ 6@ O
2 @O (@) @Gv) (11) ©@ @ Gi) @Gv) ()
@ en S ® @ O @) 6@
4 @ @G @(v) (3Gid 4 @ @) @(v) (i)
(5) IrFaa I (5) Question not attempted

' |
110. Wi frem § Afess g @ wefm | 110. Which branch of philosophy deals

TSI B @ e R ? l :v&iil:at?gzr‘?l values in physical
& | } (1) Epistemology

@ REERISIEL ’ (2) Axiology

(8) weTfRfsm | (8) Metaphysics

(4) dith I (4) Logic

(5) 3raiE T | (5) Question not attempted

50 33

s . )




111.

112.

T& ¥R =@ yfowa & | foawor fremd

TR HE I HT A R |
HiaH A Hiad B

A, 9Nl % foe st (1) 23%
iR 5@ wha

B. ufgenett & fow (ii) 18%
atga it =@ '
BIGEIK

C. gouis fou=mam (i) 12%
IR =41

D. #afgemat & @ Gv) 3%
=T IR 54 '

%c:
A B € D

(1) G @@ v @

(2) @) @ @ @)

@) () @O @) @)

@ G @ Gv) (i)

(5) IR S

1851 waredt % wen § Wi R &

Torpra w0 ‘Aeper ToRfeaafdt’ & geiema

T ST IS T ?

1) 3= e sfem ik Sifgs
formpra o 3temTa W SR fe |

2

Tt 3R g fom g o

ISFE

‘3@ AR i fhea s W H

IR A i FHIAd i |

3E% DU JAT3S WH AF HF

TR 6t T 8 |

ARG T

3

4

(G))

> -

™ W fER # sgEn e |

|
|
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111.

Match the description with the
correct body fat percentage and
select the correct answer.

Column A Column B
A. Average body (i) 23%
fat percentage
for men
B. Average body (i) 18%
fat percentage
for women
C. Minimum body (ii)) 12%
fat for men
D. Minimum body (@(v) 3%
fat for women
Codes:
Ate B CaaD
(1) @) @) Gv) @
(2) (1) G @ @)
(3) @) @@ G) @Gv)
4) @ @ Gv) (i)
(6) Question not attempted .
112. How did the philosophy of
‘Muscular Christianity’ influence
the development of physical

education in the mid 18th century ?
(1) It emphasized the separation
of physical training and
intellectual development.

It promoted the idea that
physical and - intellectual
development were inter-
connected.

It advocated for exercises
adapted to an md.1v1duals
fitness level.

It led to the establishment of
the United States Lawn
Tennis Association.

Question not attempted

@

3

(4)

()
50



113, Preffen 3 & % & Rigiq 78 998
T Hfig dk w el + gew sl
TERAHEE 7

114.

115.

50

1.
IT.

ITI.
IV.

$C:

(1)
(2
3
4
(5)

F=fafea § 9 sriifes e <1 sy
FE R ? |

1)
2
3)

4)
(6)

e et el 3 Pt 3 el 3 s
Bt Tt i A7 T e ) 7

L.

I1.

III.

(1)
()
(3
4
®)

-qurerdsfierar
ST & s 3TaT
Bgifaes J=ie 79
@ T

HIRIVER €|
I3RIIaH g
II3RIVEE g |
IRIVERE |

SN S

SNerirens T4 farenfira e |

Hae AT Te3iH Bl 9gHT |
wiife, AFfe Ik wmiies
HEIATVT I FGTET T |

I T <h SIS ST ITH HET |

FATANT I

wffast  #  Haw Heiw
Afeuetl o diftrd w |

wRifes IR FHerers gfefanst
T ThHT TS | l
it @ i qEt % wE |
T M higd HET | |
M Ml S Thole W T Hel (s
Wl h TefehTesh YT |

II3MIVER g |
IR I aE % | |
IR IITEE |
I[I3RIVE S |

STRa I |
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113.

114.

115.

Which of the following principles
most directly support learners in
building new understandings ?

I. Non-Reflectiveness

II. Differences among listeners

ITI. Principled ~ conceptual
knowledge

IV. Prior knowledge

Codes :

(1) III and IV are correct.
(2) Iand]II are correct.

(3) II and IV are correct.
(4) IandIV are correct.

(5) Question not attempted

Which of the following is a primary

function of physical education ?

(1) Developing academic
knowledge

(2) Enhancing athletic
performance only

(3) Promoting physical,

4)

(5)

and social well-being

Getting high level

efficiency

Question not attempted
Which two elements from Greek
sport culture helped lay the
foundation for modern sports
traditions ?
I. The restriction of contests to
elite gladiators only.
The cyclic organization of
athletic and artistic contests.
The focus on commercial gain
and spectator entertainment.
The symbolic role of the Olympic
Games in uniting mankind.
Codes :
(1) III and IV are correct.
(2) Iand II are correct.
(3) II and III are correct.

(4) 1II and IV are correct.
(5) - Question not attempted

mental

skill

IL.

ITI.

Iv.




116.

117.

118.

119.

Wis =™ § w9 @ Tt S
’srvnaﬁsqa‘mﬁamﬁ%?

JTegtaTe % IR, Fefafaa s a s @
T Tt 3 39 alieh T 91 § 7
I II. g
III. Todagya IV, wdeo iRk

%

(1) LIIARIVEEE |
2 LIsARIVE@E
(3) IHARIIEE &
(4) I IIaRIIEdE |
(5) I S

freferfad 3 & 9 @1 Terel Fe-aHw
Ta1 % ®Y § Hed Jifere geuanT faRar S
27

(1) uienEfed (sdtam)

FEHAATERE ?

I. G Ayl se o @ Bar g 6 feedt
R R smFars |
I[I. 98 e AE@saAr 3R

wﬁmw@ﬂsﬁéﬂ%l
ey AP SEwEl §

TEEYU ¢ | _

T Ffea 3 aehifies 2, e
YA 2 |

I1I.

IV.

R
(1)
(2)
(3)
(4)
(%)

HNI3RIVES |
IaRIIad g

IR IIaE |
MIRIVALE |

AN T

T TR WIS TR TS T
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116.

117.

118.

119.

What is the primary energy system
used in aerobic exercise ?

(1) Phosphagen system

(2) Anaerobic-glycolysis

(3) Oxidative system

(4) Lactic acid system

(5) Question not attempted

‘According to Idealism, which of the

following are considered valid ways
to attain knowledge ?

I. Reasoning

II. Intuition

III. Sense experience

IV. Trial and error

Codes:

(1) I, III and IV are correct.
(2) I, II and IV are correct.
(3) II and III are correct.
(4) I, II and III are correct.
(5) Question not attempted

Which substance is most commonly
abused as a  performance-
enhancing drug ?

(1) Erythropoietin (EPO)

(2) Caffeine

(8) Creatine

(4) Omega-3 fatty acids

(5) Question not attempted

Which of the following statements

align with the philosophy of

Pragmatism ?

I. Truth is determined by what
works in a specific situation.

It values individual needs and
social cooperation.

Ideals are more important
than individual experiences.

Truth is fixed and universal,
independent of experience.
Codes :

(1) III and IV are correct.

(2) IandII are correct.

(3) 1II and III are correct.

(4) 1II and IV are correct.

(5) Question not attempted

:

I1I.

IV.

50



120. 31 &1 fagia i afwor § wik 6
TS % TR hl &HAT ! GHITT 8 ?

121.

122,

50

FedasRasmadi€?
‘a. YR 9ueA W@ 99T AT @Ry

b. TGN, ®INE dERE wrRife
c. W, S gefta T garar &1

%<

Frafafga 3 @ =9 o1 vered vl @
I fFar 9= g e Tk
HESH TE ] ?

(5) IFFd I

123. @iftd gea X (THR)@IW?@EH?@

R ?

R =1 g
Yfeada =1 fagia
ferf¥rean =1 fagia
wifer < frgia
IR T

(1)
)
3)
(4)
®

gaft IR e&ar & g € |
AT T AR |

FATATE |
d. TRy dd @Ry et
IR g8 1 AT 2 |

a,c™@d (2 abWe
aﬁlﬁa@b (4) aﬁHcQ‘q"d

HATARE T

(1)
3)
(5)

(1) TEiTeS BUaS
(2) TwReuElA (EPO)
(3) HHN

(4) faertm= C

THR = (@ftra ftean) (HRmax +
RHR) - RHR

THR = (&f¥a dtsran) (HRmax)

THR = (@t dtear) (HRmax +
RHR)

THR = (@féa dis@r) (RHR) +
HRmax

FIANE JH

(1)

(2)
3)

4

T —— —_—— T —T———- WS, TR . TP A VoAbt i TP —

®)

w
~J

120.

121.

122,

-
[~
oW

Which principle explains the body’s
ability to adapt to stress in
physical training ?

(1) Principle of Overload

(2) Principle of Reversibility

(3) Principle of Specificity

(4) Principle of Progression

(5) Question not attempted
Which of the following statements
are correct ?

a. Body compos1t1on and
coordination  are health
related physical fitness
components.

b. Flexibility is skill related

physical fitness component.

c. Power is the skill related
physical fitness component.

d. DMuscular strength is the
health related physical fitness '
component.

Codes :

{1) a,candd (2) a,bandec

(3) aandbonly(4) candd only

(5) Question not attempted

Which of the following substance is
not a common ergogenic aid used
by athletes ?

(1) Anabolic sterozds

(2) Erythropoietin (EPO)

(38) Caffeine

(4) Vitamin C

(5) Question not attempted

. What is the formula to calculate

the Target Heart Rate (THR) ?

(1) THR.= (Target Intensity)
(HRmax + RHR) —RHR

(2) THR = (Target Intensity)
(HRmax)

(3) THR = (Target Intensity)
(HRmax + RHR)

(4) THR = (Target Intensity)
(RHR) + HRmax

(5) Question not attempted




124.

125.

126.

o e ugft # % wfe e
HTgeIhivgar ® Ueifed-CoA & sgat S
g7
1)
2
(3)

HIEHTH Tt

HAAEHT TATSRITATIE
wer-srfadfiesm

(4) Hl=m

(5) AT SR

grea Fieifies @i & ) § feafefaa §
AP AR ?

(1) 3 fomm fopelt 3 wiespfores e &
HEr 8 eaifes gfefiand of |

q Rt wemifes sfernfiand of, o7
ey gaE & aue off 3R
9 qifs, S 3R Famer
e S |

TfgenaAl i wfeaifranedt 3 wfoerst
FH R I W WO A A
Frgafa ot | :
T &7 &9 & T el & o
T w9 |

(5) g SR

IR (A) : 3R faga & IER,
THIF! 1 99 Y F Igg b A |
T sira |
%I (R) :
M ¥ B~ 3 wreustt qg &
B =3 T S |
(A) W (R) 1 Safthe €9 & 9&l 8
T (R), (A) i agi =@ |
(A) T (R) gFi Jafthe &9 d T&l 8
A (R), (A) I & e TE |
(A) gea 8, feh (R) 38 # |
(A) 3@ R, dfrT (R) T3 & |
JTANE T

(2)

3

(4)

(1)
@)
3

4
®)

38

124,

125.

In which metabolic pathway fatty
acid molecules transform into
acetyl-CoA in the mitochondria ?

(1)
2
3)
4)
(5)

Which of the following is true
about the ancient Olympic games ?

e

Phosphagen system
Anaerobic glycolysis
Beta-oxidation

Cori cycle

Question not attempted

They were strictly athletic
competitions with no other
cultural significance.

(2) They were as much a religious
ceremony as they were athletic
competitions and also featured

philosophers, poets and artists.

Women were allowed to
compete and participate fully
in the events.

3)

(4)

The games were primarily a
showcase for Roman athletes.

(5)

Question not attempted

126. Assertion (A) : According to size

(®)

principle, the motor units and
muscle fibers are recruited in
order from smallest to largest
for exercise.
Reason (R) : The beginning of
exercise is always with the
recruitment of fast twitch
muscle fibers.
Both (A) and (R) are
individually true and (R) is
the correct explanation of (A).
Both (A) and (@®) are
individually true but (R) is not
the correct explanation of (A).
(A) is true but (R) is false.
(A) is false but (R) is true.
Question not attempted

(1
)
3)

(4)
50




127.

128,

129.

130.

50

fm & @ =9 @ e fug=
R S fRufa =t w9 @ % e
ST HTIE war g ? :

(1) Gegar i TawEsar g

(2) wEs fagra

(3) 3I9fed Y AEvIHal g

(4) =9 frewmm faga

(5) IrgaRa 5w

HH B YHR & et & 39 w1 e
i fome St & oo st g 7
I. for II. iefes
1. ST Iv. faf¥m

e

(1) IHMIFARIVERE|
2 I3RIIaEdE|
(3) IIRIIEHE|
(4) IsRImads)

(5) ST SR
frafofas 3 & 9 ™ PRRERS
TGl T IR R ?

(1) IFegEss Nt

(2) sEETER

(3) ferega Sebor

(4) TS

(5) TgaRE

Freityen # g fafrem & gfe fora et

% T §5 7

I. 1996 3Nl o Fifed il @

II.  wf¥eqor & 619 %1 399

III. 1960 3ifues § wh Sy wrzfeet
Tl 1 9 -

NADA st =797

I FRIVESE |
IRIITEE |
3R g |
[3RIIEd g

JFATANE W9

IV.
LT
(1)
(2)
(3)
(4)
()

T —— T—————— T ——T— T —— T —————A— Tn—
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127.

128.

129.

130.

Which of the following
motivational theory works heavily
to maintain the state of
homeostasis ?

(1) Need for affiliation theory

(2) Instinctual theory '

(3) Need for achievement theory
(4) Drive reduction theory

(5) Question not attempted
Which types of fractures are

defined by the angle or direction in
which the bone breaks ?

I.  Oblique II. Greenstick
ITI. Transverse IV. Compound °*
Codes: :

(1) IIT and IV are correct.

(2) Iand]II are correct.

(3) 1II and III are correct.

(4) IandIII are correct.

(5) Question not attempted

Which of the following is an
example of an electrotherapeutic
modality ?

(1) Ultrasound therapy

(2) Cryotherapy

(3) Electrical stimulation

(4) Hydrotherapy

(6) Question not attempted

Which events lead to increased
drug regulation in the Olympics ?
I. Discovery of Bromantan at
the 1996 Olympics

Use of caffeine in training
Death of a Danish cyclist at
the 1960 Olympics

IV. Establishment of NADA
Codes :

(1) III and IV are correct.

(2) IandIII are correct.

(3) II and III are correct.

(4) I andII are correct.

(5) Question not attempted

II.
ITI.
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